MATH 152, 501-506, Spring 2011, Sample problems for Test 2

(a) = —dz = Mz5wd‘60e/{‘ 1

25 =5  (1-copat) = A2~ andE)vC
;L .

1. Evaluate the integral . . )
v =5mt /7g%§_—hﬂ_ﬁ 5w/)£~oréé

Lo g Ao £
* \ =t 5 = [5x
o b=, Ghoa o) E7l o
IRy |
+= 4 /’5-“) ) Ty |

L i = 2B(w (%) - FF) 1€

43 Ay =Y [ u -4
® [t = [du=axely ’Z’ES T‘}w
’)6‘2::(/(‘1{ ’ Yy

, _ [ W j‘___)
- 55 (M- 4 )b = & (M- | e
:L(%/%2+4)3/2—4’W*C

| ’)0—“—095:@14‘/: - Q‘g_t%i“imeo%ﬂ%”gmg’ﬁ“%%
Ayl = AAee 3
[ w=4ect S =98[“2“/)”‘5“ :00/:—?7 +u)\+&
A= @V&W‘é 2 34 / C.
R | ot e
Trant =% = y@‘é‘ﬂ/v‘xl}%* "‘“"2)+c
fec =it = TR




o +L/y -F= % ‘I'L/X‘f'l‘f —q
© /\/xzjjx—S //X‘f&) lpq
. ntd =73 Sect
’%f&'ﬁ oy = dgect ot bt
){‘f’«l) - rﬁz)_}_—_—lm 3)"70(/‘/147
Bk kA ek - ou|tect +-dem £l £ C-

“Stomt |
R I s il A

bt = r“'ﬁ a2 = )

@ [
Poyrtead  fraction Apconpobi ron. /

Sy = e Tl
_ oy (xt) +B (¥ *’)‘fw
x|
o (ﬂ-r(;)*xl(Bf% )+x (A
3 Kl’f(
v §tC=0 P~
X% p+p=0 A=0 @
W f-o c=—p-0) [P=B="
x°. B=1
/ ~|
GM _g(——l—"" {l BA,X :—'./'”W /X)#C’
Swm ot )CQ' Y 1 x




o] = FL ) Tera)xtd)

z+2)(z+3) L=o°

0

[x42)(443) Tt Yy~ oxt X3
#{xt3)+ Blrd)
[x+2) (x+3)

/X‘:’&i l—;-——B“‘é B;-—'

L, , t
_0 d .1 - 7z xnzl~£vz/x+3d/
”fﬁf‘;’o i ()H’Q. x+)ﬂe'x fg@z / | g
— G on [E+2]~ du 43 - %2+ém?>):£g@%% —tn2+ 3
Lo . — ur—bnd [/
O |y — Comerpeat
= bm g',.,”%‘
£2-o° Ax-3)* ‘
{ /
= W 'y /&X'&))/s




’ +
¢ﬁ5‘ E, (05@’()4)3/5
/5 ) " 5\/5‘“ }6)3/5 t
L5~ _2/f5+l 14 P57
i 5(gH"1)=[ 3
g5~ 2 >

2. Write out the form of the partial fraction decomposition of the function
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Do not determine the numerical values for the coefficients.
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5 Find the engh o he curve (0) = 36— £, 5() = 32,0 < £ <2
L= RTT Ly T
’K%«L):W 5 -342
%'/19)-»- bt
[v(93% Ly' 3™ (3-84)" +344*
= 4 =18t + g+t +3b+2
=4 418t 4t
= (3434%)°

2
L= (34342) dt = <3Jr+%13)

8

= (b+ 4)

1]




4. Find the area of the surface obtained by rotating the curve y = z3, 0 < z < 2 about the
z-axis.
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5. Find the area of the surface obtained by rotating the curve z = /2y — 92, 0 <y <1
about the y-axis.

3 = é\ﬂ\% ) [1+(ely)” Ay

{

9

()= Ay (2-3g) = f/;’:‘




/A f’@%m@% pule

6. Find lim — —=———"
n—oo Inn

= Qo arn
h—-=>c° -
n
n
= O
n->* Q\W




7. Find the sum of the series
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8. Determine whether the series is convergent or divergent.
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9. Approximate the sum of the series Z ne™™ by using the sum of first 4 terms. Estimate
n=1
the error involved in thlS approximation.
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